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 Make y the subject of the formula
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(b) Make y the subject of the formula  p = +x y
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Make m the subject of the formula   v =
2E
m
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(b) Make v the subject of the formula  w
v

= 15 − 2t v( )
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17 Make a the subject of        a
r

= a ++ 3 2 7
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13 m = 
k 3 + 1

4

Make k the subject of the formula.
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2 Three companies sell the same type of furniture.

The price of the furniture from Pooles of London is £1480
The price of the furniture from Jardins of Paris is €1980
The price of the furniture from Outways of New York is $2250

The exchange rates are

£1 = €1.34

£1 = $1.52

Which company sells this furniture at the lowest price?
You must show how you get your answer.

(Total for Question 2 is 3 marks)
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1 Make t the subject of the formula  w = 3t + 11
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(Total 2 marks

3 Make t the subject of the formula  y = t
3

– 2a
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(Total 2 marks
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